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7  Summary (HEI)
(1) Official in charge of disbursement of the procuring entity : HASHIMOTO Yuji ,
Director General of Shikoku Regional Forest Office (P4 [E Z& #K & £ J5) =)
(2) Classification of the services to be
procured : 42 (BUNFHZEMLEE S 42 B OLOOY—L R, = v=T U7
s =R ZOMOEMAIY — 1 R)
(3) Subject matter of the contract : Landslide investigation in kashio, Higashiiya,
Miyoshi city, Tokushima prefecture (FEHE DN : {5 R =4 T HAHSHEE O3~
V) BEAE AL
(4) Time limit for the submission of application forms and relevant documents for the
qualification : 5:00 P. M., 14 June 2022 (HFEEDEHEIRZ AT
(5) Time limit for the submission of tenders by electronic bidding system (¥ A) : 10:00
A. M., 29 June 2022, in case of submission by document (f&AFL) : 10:00 A. M., 29
June 2022, in case of submission by mail (E{# AFL) : 5:00 P. M., 28 June 2022
(6) Contact point for tender documentation : Accounting department Shikoku Regional
Forest Office, 1—3—30 Marunouchi Kochi city Kochi prefecture 780 —8528 Japan.
TEL 088—821—2011 (AALIZBIT 5 XEDOMEE D DOFLH)
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2| EEHER RAxfiTERAERES 1.000f A 58,600 58,600| 58,600 58,600 0.000 0
3| HRETA RAxfiTERAERES 1.000f A 51,200 51,200 51,200 51,200 0.000 0
4|5 EMB RAxfiTERAERES 0.500] A 41,600 20,800| 41,600 20,800 0.000 0
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3| HRETA RAxfiTERAERES 1.600 A 51,200 81,920| 51,200 81,920 0.000 0
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2| EEHER RAxfiTERAERES 1.500 A 58,600 87,900| 58,600 87,900 0.000 0
3| HRETA RAxfiTERAERES 1.500 A 51,200 76,800 51,200 76,800 0.000 0
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3| HRETA RAxfiTERAERES 2.400] A 51,200 122,880 51,200 122,880 0.000 0
4|5 EMB RAxfiTERAERES 1.600 A 41,600 66,560| 41,600 66,560 0.000 0
5|iEfiC RAxfiTERAERES 1.600 A 32,800 52,480| 32,800 52,480 0.000 0
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2| EEHER RAxfiTERAERES 1.000f A 58,600 58,600| 58,600 58,600 0.000 0
3| HRETA RAxfiTERAERES 1.000f A 51,200 51,200 51,200 51,200 0.000 0
4|5 EMB RAxfiTERAERES 1.000f A 41,600 41,600 41,600 41,600 0.000 0
5|iEfiC RAxfiTERAERES 0.500] A 32,800 16,400/ 32,800 16,400 0.000 0
6|8 RAxfiTERAERES 1.500 A 29,000 43,500 29,000 43,500 0.000 0
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2| EEHER RAxfiTERAERES 1.100 A 58,600 64,460| 58,600 64,460 0.000 0
3| HRETA RAxfiTERAERES 1.100 A 51,200 56,320| 51,200 56,320 0.000 0
4|5 EMB RAxfiTERAERES 1.100 A 41,600 45760| 41,600 45,760 0.000 0
5|iEfiC RAxfiTERAERES 0.550] A 32,800 18,040/ 32,800 18,040 0.000 0
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2| EEHER RAxfiTERAERES 1.200 A 58,600 70,320| 58,600 70,320 0.000 0
3| HRETA RAxfiTERAERES 1.200 A 51,200 61,440 51,200 61,440 0.000 0
4|5 EMB RAxfiTERAERES 1.200 A 41,600 49.920| 41,600 49,920 0.000 0
5|iEfiC RAxfiTERAERES 0.600] A 32,800 19,680/ 32,800 19,680 0.000 0
6|8 RAxfiTERAERES 1.800 A 29,000 52,200| 29,000 52,200 0.000 0
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2| EEHER RAxfiTERAERES 1.500 A 58,600 87,900| 58,600 87,900 0.000 0
3| HRETA RAxfiTERAERES 1.000f A 51,200 51,200 51,200 51,200 0.000 0
4|5 EMB RAxfiTERAERES 1.500 A 41,600 62,400| 41,600 62,400 0.000 0
&t 201,500 201,500 0.000 0
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2| EEHER RAxfiTERAERES 2.000] A 58,600 117,200/ 58,600 117,200 0.000 0
3| HRETA RAxfiTERAERES 1.000f A 51,200 51,200 51,200 51,200 0.000 0
4|5 EMB RAxfiTERAERES 1.000f A 41,600 41,600 41,600 41,600 0.000 0
&t 210,000 210,000 0.000 0
B fi 1.0 43y 210,000
BEEAHGE 210,000
TS 0
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RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
3| HRETA RAxfiTERAERES 0.590] A 51,200 30,208| 51,200 30,208/0.84%0.70=0.59|| 0.000 0
4| B0 B RAxfiTERAERES 0.940| A 41,600 39,104| 41,600 39,104|1.34%0.70=0.94]| 0.000 0
5|5iEfiC RAxfiTERAERES 0.820] A 32,800 26,896| 32,800 26,896(1.17%0.70=0.82|| 0.000 0
6|8 RAxfiTERAERES 1520 A 29,000 44,080 29,000 44,080(2.17%0.70=1.52]| 0.000 0
22| T RAxfiTERAERES 1.400] A 31,100 43,540 0 0/2.00%0.70=1.40|| 0.000 0
&t 183,828 140,288 0.000 0
B fi 1.0 KBy 183,828
EEAME 140,288
TS 43,540
data (f5%) HAJIMXEE (BE) IWLEMmIR03~05haxkim -0.1 BEMGETHEDH -0.2
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3| HRETA RAxfiTERAERES 0.640| A 51,200 32,768| 51,200 32,768/0.92%0.70=0.64]| 0.000 0
4| B0 B RAxfiTERAERES 0.990| A 41,600 41,184] 41,600 41,184[1.42%0.70=0.99|| 0.000 0
5|5iEfiC RAxfiTERAERES 1550 A 32,800 50,840| 32,800 50,840(2.21%0.70=1.55|| 0.000 0
6|8 RAxfiTERAERES 1.550 A 29,000 44,950 29,000 44,950(2.21%0.70=1.55|| 0.000 0
22| T RAxfiTERAERES 1.400] A 31,100 43,540 0 0/2.00%0.70=1.40|| 0.000 0
&t 213,282 169,742 0.000 0
B fi 1.0 KBy 213,282
EEAME 169,742
TS 43,540
data (f5%) HAJIMXEE (BE) IWLEMmIR03~05haxkim -0.1 BEMGETHEDH -0.2
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5|FEMC R ERAERHEE 0970 A 32,800 31,816 32,800 31,816(1.39%0.70=0.97|| 0.000 0
6| BT & R ERAERHEE 1.670] A 29,000 48430 29,000 48,430|2.39%0.70=1.67|| 0.000 0
&t 80,246 80,246 0.000 0
B T 1.0 Ky 80,246
EEAGE 80,246
TR E 0
datal (&%) HAJIHWXEBE (BE) WKEMmIE0.3~0.5haRiE -0.1 HEMGZTIENDH -0.2
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2| F{F A R ERAERHEE 0.440[ A 58,600 25,784 58,600 25,784(0.63%0.70=0.44|| 0.000 0
4| BB R ERAERHEE 0.880[ A 41,600 36,608 41,600 36,608|1.26%0.70=0.88|| 0.000 0
&t 62,392 62,392 0.000 0
B fiff 1.0 ALY 62,392
EEAGE 62,392
TR E 0
datal (&%) HAJIHWXEBE (BE) WKEMmIE0.3~0.5haRiE -0.1 HEMGZTIENDH -0.2
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RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16| 8| S HiEm RAxfiTERAERES 0.100] A 42,200 4220 42,200 4,220 0.000 0
* 17 S e RAxfiTERAERES 0.670] A 32,400 21,708| 32,400 21,708 0.480| 15552
* 18I EBNF RAxfiTERAERES 1.190 31,100 37,009 31,100 37,009 0.950| 29,545
* 19[;BIEWBE RAxfiTERAERES 1.050 25,400 26,670 25,400 26,670 1.050] 26,670
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 89,607 4,480 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 89,607 1,344 0 0 0.000 0
it 95,431 89,607 2480 71,767
B i 1.0 KLY 95,431
BEEAHGE 89,607
TS 5,824
data| (&) HAJIHXEE (M) #iR &
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RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16 B = BB RAxfiTERAERES 1.600 A 42,200 67,520| 42,200 67,520 1.600] 67,520
* 17 S e RAxfiTERAERES 1.600 A 32,400 51,840| 32,400 51,840 1.600] 51,840
* 19[;BEWBE RAxfiTERAERES 3200 A 25,400 81,280/ 25,400 81,280 3.200/ 81,280
501 [MHEHEEXH] |MELBEINTEE 5.000] % 200,640 10,032 0 0 0.000 0
502| MR E NS XS] g LtEcxdd2Ea 1.500] % 200,640 3,010 0 0 0.000 0
it 213,682 200,640 6.400| 200,640
B fi 1.0 KLY 213,682
BEEAHGE 200,640
TS 13,042
data (&%) HAJIMWXREBE (BEXF2) BfRKRMIE2kmRK7E 1.00 HRFHIE WWih 1.0
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2827|ERIAE 1.000| #FR 6,650 6,650 6,650 6,650 0.000 0
2828 | IR EAE 15.000| &P 26,275 394,125 26,275 394,125 0.000 0
2829|ERYELD 15.000( &P 9,054 135,810 9,054 135,810 0.000 0
&t 536,585 536,585 0.000 0
B fif 1.0 ERTHY 35,772
EEAGE 35,772
TS 0
data| (&) HAJIEXEBE (BRE)
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&S 2826 | me 55 EREE| 2026 |EEmMEEE
Bf A |JaIlUEER s AR 1-FNo YER D 6.00 EREAL| B [manssuszm|| BETENEER
B &I SYRRIET _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2827|ERIAE 1.000| #FR 6,650 6,650 6,650 6,650 0.000 0
2828 | IR EAE 6.000| R 26,275 157,650 26,275 157,650 0.000 0
2829|ERYELD 6.000| PR 9,054 54,324 9,054 54,324 0.000 0
&t 218,624 218,624 0.000 0
B fif 1.0 By 36,437
EEAGE 36,437
TS 0
data| (&) HAJIBXREZBE (F1R)
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FHEE 2827 | E 55 2827 |BBANEES
B4 % |SaRAE 1-FNo By B 10.00 E e 3 | BT E =K
B & _ 1 o NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | S| B m | = % & %8 ® B | = %8
2| F{F A R ERAERHEE 0.500[ A 58,600 29,300 29,300 0.000 0
4| B0 B R ERAERHEE 0.500[ A 41,600 20,800 20,800 0.000 0
5|5iEfiC R ERAERHEE 0.500[ A 32,800 16,400 16,400 0.000 0
&t 66,500 66,500 0.000 0
B i 1.0 BTy 6,650
BEEAHGE 6,650
TR E 0
datal ({§#)
5
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Bifi4&# |RitAE 1-FNo YER D 1000 |[fERCEEGL|] &R |asncsusgs|| BfTENXB#
(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
13EE-HiE RAxfiTERAERES 0.500] A 66,900 33,450| 66,900 33,450 0.500| 33,450
2| EEHER RAxfiTERAERES 0.500] A 58,600 29,300| 58,600 29,300 0.500| 29,300
3| HRETA RAxfiTERAERES 1.000f A 51,200 51,200 51,200 51,200 1.000] 51,200
4| B0 B RAxfiTERAERES 1.000f A 41,600 41,600 41,600 41,600 1.000] 41,600
5|iEfiC RAxfiTERAERES 1.500 A 32,800 49200 32,800 49,200 1.500] 49,200
6|8 RAxfiTERAERES 2.000] A 29,000 58,000 29,000 58,000 2.000| 58,000
it 262,750 262,750 6.500] 262,750
B fif 1.0 ERTHY 26,275
BEEAHGE 26,275
TS 0
data| (5#)
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Bl |RYEED 1-FNo By B 1000 |1ERCEEGI| @& |[Ascausgr|| ETTENEBK
(I _ i i NEEZAHE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
4| BB R ERAERHEE 0.500[ A 41,600 20,800 41,600 20,800 0.000 0
5|5 EMC R ERAERHEE 0.800[ A 32,800 26,240 32,800 26,240 0.000 0
6| BT & R ERAERHEE 1500 A 29,000 43500 29,000 43,500 0.000 0
&t 90,540 90,540 0.000 0
B fiff 1.0 BTy 9,054
EEAGE 9,054
ZTDMIZE 0
datal ({§#)
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Bifa#H | FmRFEER 1-FNo YER D 1.00 YE R BT = aniaussm|| RTENEBE
(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
3| HRETA RAxfiTERAERES 0.840| A 51,200 43,008| 51,200 43,008[0.84%1.00=0.84|| 0.000 0
4| B0 B RAxfiTERAERES 1.340 A 41,600 55,744| 41,600 55,744|1.34%1.00=1.34|| 0.000 0
5|5iEfiC RAxfiTERAERES 1170 A 32,800 38,376| 32,800 38,376/1.17%1.00=1.17|| 0.000 0
6|8 RAxfiTERAERES 2170 A 29,000 62,930| 29,000 62,930(2.17%1.00=2.17|| 0.000 0
22| T RAxfiTERAERES 2000 A 31,100 62,200 0 0/2.00%1.00=2.00|| 0.000 0
&t 262,258 200,058 0.000 0
B fif 1.0 &Y 262,258
BEEAHGE 200,058
TS 62,200
datal (&%) HAJIHXEZBE M) WWEEMEIEC.3hakim 0.2 HEHEIFEDH +0.2
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(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
3| HRETA RAxfiTERAERES 0.550] A 51,200 28,160| 51,200 28,160/0.92%0.60=0.55|| 0.000 0
4| B0 B RAxfiTERAERES 0.850] A 41,600 35,360| 41,600 35,360|1.42%0.60=0.85|| 0.000 0
5|5iEfiC RAxfiTERAERES 1.330] A 32,800 43,624] 32,800 43,624(2.21%0.60=1.33|| 0.000 0
6|8 RAxfiTERAERES 1.330] A 29,000 38,570| 29,000 38,570/2.21%0.60=1.33|| 0.000 0
22| T RAxfiTERAERES 1.200] A 31,100 37,320 0 0/2.00%0.60=1.20|| 0.000 0
&t 183,034 145,714 0.000 0
B i 1.0 KBy 183,034
EEAME 145,714
TS 37,320
data (%) HAJIMXEE M) ILEmER0.3haxRi -02 HEfMGTIEDA 0.2
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Bf4# s RERK 1-FNo YER D 1.00 YE R BT = aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
3| HRETA RAxfiTERAERES 0.920] A 51,200 47,104| 51,200 47,104[0.92%1.00=0.92]| 0.000 0
4| B0 B RAxfiTERAERES 1420 A 41,600 59,072 41,600 59,072|1.42%1.00=1.42]| 0.000 0
5|5iEfiC RAxfiTERAERES 22100 A 32,800 72,488 32,800 72,488|2.21%1.00=2.21|] 0.000 0
6|8 RAxfiTERAERES 22100 A 29,000 64,090| 29,000 64,090/2.21%1.00=2.21]| 0.000 0
22| T RAxfiTERAERES 2000 A 31,100 62,200 0 0/2.00%1.00=2.00|| 0.000 0
&t 304,954 242,754 0.000 0
B i 1.0 KLY 304,954
BEEAHGE 242,754
ZTDMIZE 62,200
data (%) HAJIMXEE M) ILEmER03haxRi 02 EHLGIEDA +0.2
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W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
5|FEMC R ERAERHEE 0.830] A 32,800 27,224 32,800 27,224(1.39%0.60=0.83|| 0.000 0
6| BT & R ERAERHEE 1.430] A 29,000 41,470 29,000 41,470|2.39%0.60=1.43|| 0.000 0
&t 68,694 68,694 0.000 0
=] {f 1.0 ALY 68,694
EEAGE 68,694
TR E 0
datal (&%) HAJIHXEZBE M) WWEEMEIEC.3hakim —0.2 BHiMGTiEDH 0.2
5




A 22 8 ) B il 3%

REBHRE

e
e 2900 | e 55 BEREE| 2000 |EEmMEEE
B | BEEE 1-FNo By B 1.00 {E R B 5L = e | BT EDE LR
(I _ i i NEEZAHE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
5|FEMC R ERAERHEE 1.390] A 32,800 45592 32,800 45592|1.39%1.00=1.39|| 0.000 0
6| BT & R ERAERHEE 2390 A 29,000 69,310/ 29,000 69,310(2.39%1.00=2.39|| 0.000 0
&t 114,902 114,902 0.000 0
B fiff 1.0 ALY 114,902
EEAGE 114,902
TR E 0
data| (&) HAJIMXEZE CMI) IUEmIE0.3hakim 02 EMLETIEDA +0.2
5




A 22 8 ) B il 3%

REBHRE

e
e 2901 | e 55 BEREE| 2001 |EEmMEEE
Hm4 5 |BE 1-FNo By B 1.00 {E R B 5L = e | BT EDE LR
(I _ i i NEEZAHE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
2| F{F A R ERAERHEE 0.380] A 58,600 22268 58,600 22,268(0.63%0.60=0.38|| 0.000 0
4| BB R ERAERHEE 0.760[ A 41,600 31,616 41,600 31,616(1.26%0.60=0.76|| 0.000 0
&t 53,884 53,884 0.000 0
B T 1.0 Ky 53,884
EEAGE 53,884
TR E 0
datal (&%) HAJIHXEZBE M) WWEEMEIEC.3hakim —0.2 BHiMGTiEDH 0.2
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Hm4 5 |BE 1-FNo By B 1.00 {E R B 5L = e | BT EDE LR
(I _ i i NEEZAHE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
2| F{F A R ERAERHEE 0.630] A 58,600 36,918 58,600 36,918(0.63%1.00=0.63|| 0.000 0
4| BB R ERAERHEE 1260 A 41,600 52,416 41,600 52,416(1.26%1.00=1.26|| 0.000 0
&t 89,334 89,334 0.000 0
=] {f 1.0 ALY 89,334
EEAGE 89,334
TR E 0
data| (&) HAJIMXEZE CMI) IUEmIE0.3hakim 02 EMLETIEDA +0.2
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e 3166 | ) 55 B EE| 3166 |EBRHEEE
Bi4F | TEAR—) T F—/)La7) 1-FNo By B 1.00 {E R BT m e | BT EDE LR
B 5 |p66mm MELYLE MHTH L=50m _ 1% & NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B | = %8
697|+ak—1> s A—1La7) [peemm HELYL L<50 1.000] m 35,190 35,190 0 0| ZDhiZE 0.000 0
&t 35,190 0 0.000 0
B Ihi 1.0 mY 35,190
BEEAGE 0
ZDMIEE 35,190
data| (&) BAFLAR ROTH HIEFERKI.15 CAFEE 50mLlT #1E&ZE 1.00
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B4 | mAR—)> T —)La7) 1-FNo By B 1.00 {E R BT m e | BT EDE LR
# & |¢66mm #E MOTAH L=50m _ 1% & NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B% | = %
699|=mAr—1y> s A—1a7) | P 66mm BE L<50 1.000] m 33,350 33,350 0 0| ZDhiZE 0.000 0
&t 33,350 0 0.000 0
B fiff 1.0 m3Y 33,350
BEEAHGE 0
ZDMIEE 33,350
data| (&) BAFLAR ROTH HIEFERKI.15 CAFEE 50mLlT #1E&ZE 1.00
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Bi4F |TEAR—)>F(/2a7) 1-FNo By B 1.00 {E R BT m e | BT EDE LR
B & |ssemmigiELYLHE SAETA L=50m _ 1% & NEEAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B | = %8
618|t@KR—> 5 /oa7)| @ 86mm HERLY T 1.000] m 30,200 30,200 0 0| ZDILIRE 0.000 0
&t 30,200 0 0.000 0
] (i 1.0 m¥&L) 30,200
BEEAGE 0
ZDMIEE 30,200
data| (§%) HAFLAM FAE A MWIERII00 BAFLEE 50mLlT #EFRE 1.00
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B & [oetmmESELY TR SWETA 50m<L=80m 1 28 NEZEAHGE - (HREBDSHLDIES)
W BiNe| 2 71 " B | B % | B M | = %8 " BR[| = %
681|+®A—U2 s (F—La7) |deomm BELYE 50<L=80 m 33,660 33,660 0 TS 0.000
&t 33,660 0.000
B (i 1.0 m&L) 33,660
EEAGE 0
ZDMIEE 33,660

data| (5#)
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SNET A WIEFRE1.00 HAFLEE 50miB8OmLLT #HIEf&R%EX 1.10
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Bi4F | TEAR—) T F—/)La7) 1-FNo By B 1.00 {E R BT m e | BT EDE LR
B & [geermEAELYLE HETFS 50m<L=<80m _ % & NEZAGE B o= ||[EEDLONES
W BN | 2 i H 1 B = | B B Im | & %8| B m | = %= ® B | = %8
682|+mA—1> s HA—1La7) |sesmm EFEBECLYL so<L=80 1.000] m 66,880 66,880 0 0| ZDhiZE 0.000 0
&t 66,880 0 0.000 0
B Ihi 1.0 mY 66,880
BEEAGE 0
ZDMIEE 66,880
date| (f6Z) BAFLAM $AETAH MIEFEEHI00 FAFLZFEE 50miB8OmLLT fHIE%E 1.10
5
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&S 3192 | me 55 EREE| 3192 |gEnnEE=
Bl | a8AR—) 0 G—)La7) 1-FNo YER D 1.00 YE R B L m aniaussm|| RTENEBE
B & |¢66mmEE SETA 50m<L=80m _ 1% & NEEAGE B o= ||[EEDLONES
RS iliNo| 2 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
683|zmR—ys s r—na7) |p66mm #E 50<L=<80 1.000] m 31,900 31,900 0 0|Z Dz E 0.000 0
&t 31,900 0 0.000 0
B fif 1.0 m4l) 31,900
EEAGE 0
ZTDMIZE 31,900
data (5%) BATLAR FRETAH MWIEFEEI.00 HAFLEE 50miB80mLLT #HIEFRER 1.10
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Bl | a8AR—) 0 G—)La7) 1-FNo YER D 1.00 YE R B L m aniaussm|| RTENEBE
B & |p66mmpiES SAETFA 50m<L=80m _ 1% & NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
684|zmR—1s s r—na7) |ge6mm PEE 50<L<80 1.000] m 39,820 39,820 0 0|Z Dz E 0.000 0
&t 39,820 0 0.000 0
B (i 1.0 m&L) 39,820
EEAME 0
ZTDMIZE 39,820
data (5%) BATLAR FRETAH MWIEFEEI.00 HAFLEE 50miB80mLLT #HIEFRER 1.10
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BlE | BiKAESRE 1-FNo YER D 1.00 YE R BT fL aniaussm|| RTENEBE
B 5 MBS 3-4-1-1 1% o NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
M[FEHERES R4 EEERL 0.330] A 36,800 12,144 36,800 12,144 0.000 0
12| EREE RAxfiTERAERES 0.670 A 27,200 18,224| 27,200 18,224 0.000 0
&t 30,368 30,368 0.000 0
B fi 1.0 LY 30,368
EEAGE 30,368
TS 0
data| (1&Z) GrAAY
5
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BlA | Bit/KA SR SR EE 1-FNo YER D 1.00 YE R BT A aniaussm|| RTENEBE
- ARE- S ETED 3-4-1-2 2 & NEEAE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 10| #h B ER & A RAxfiTERAERES 0.050] A 50,100 2,505/ 50,100 2,505 0.000 0
* M[FEHERES |RABMTEEREERL 0.780] A 36,800 28,704| 36,800 28,704 0.000 0
504|#1 1 & MBS HEE 1.000[ % 31,209 312 0 O|#T#I & 0.000 0
803| B AT /K&t PCh—F=( 30.000| H 1,588 47,640 0 O|MEWIRE 0.000 0
&t 79,161 31,209 0.000 0
B T 1.0 A8y 79,161
BEEAHGE 31,209
TS 47,952

5

data| (f&%) 421,000%0.3773/100=1,588
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HEifAH | TFKEBABRKLLIEE) 1-FNo YER D 1.00 EREAL|  FL/E [mansusgm|| BETENEER
# & [fLR30mBE 3-4-7-1 2 & NEEAE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
10| #h B ER & A RAxfiTERAERES 0.720 A 50,100 36,072| 50,100 36,072 0.000 0
M[FEHERES |RABMTEEREERL 0.720 A 36,800 26,496| 36,800 26,496 0.000 0
12|MERES RAxfiTERAERES 1.320 A 27,200 35,904| 27,200 35,904 0.000 0
* 69[1& 1L+ YD L KR EERA 0.500| kg 58 29 0 O|#T#I & 0.000 0
504|#1 1 & MBS HEE 10.000] % 29 3 0 O|#T#I & 0.000 0
805|#h F /KRB 2 KCM-200C 0.600 H 815 489 0 ol E 0.000 0
&t 98,993 98,472 0.000 0
B fi 1.0 Fl/E1HY 98,993
BEEAHGE 98,472
TS 521
datal (&%) 1FL1[EZ7-Y 216,000%0.3773/100=815
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FHES 3219 l _ = 55 ZHRES| 3219 |[AEHMEEE
B4 5 [t FKRBACRA L IFIRE) 1-FNo YER D 1.00 EREAL|  FL/E [mansusgm|| BETENEER
# & [fLR30mBE 3-4-7-1 2 & NEEAE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
10| #h B ER & A RAxfiTERAERES 0.840| A 50,100 42,084| 50,100 42,084 0.000 0
M[FEHERES |RABMTEEREERL 0.840| A 36,800 30,912| 36,800 30,912 0.000 0
12|MERES RAxfiTERAERES 1.680 A 27,200 45696] 27,200 45,696 0.000 0
* 69[1& 1L+ YD L KR EERA 0.500| kg 58 29 0 O|#T#I & 0.000 0
504|#1 1 & MBS HEE 10.000] % 29 3 0 O|#T#I & 0.000 0
805|#h F /KRB 2 KCM-200C 0.700{ A 815 571 0 ol E 0.000 0
&t 119,295 118,692 0.000 0
B fi 1.0 Fl/E1HY 119,295
BEEAHGE 118,692
TS 603

datal (&%) 1FL1[EIZ7=Y) 216,000%0.3773/100=815
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H i & % |#h FKRBB(RTYITRE) 1-FNo YER D 1.00 YE R BT fL aniaussm|| RTENEBE
(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
10| #h B ER & A RAxfiTERAERES 0.300] A 50,100 15,030 50,100 15,030 0.000 0
M[FEHERES |RABMTEEREERL 0.300] A 36,800 11,040/ 36,800 11,040 0.000 0
12|MERES RAxfiTERAERES 0.600] A 27,200 16,320| 27,200 16,320 0.000 0
* 69|18t F )DL K& EER R A 0.500| kg 58 29 0 O|#T#I & 0.000 0
504|#1 1 & MBS HEE 10.000] % 29 3 0 O|#T#I & 0.000 0
805|#h F /KRB 2 KCM-200C 1.700| H 815 1,386 0 ol E 0.000 0
&t 43,808 42,390 0.000 0
B fi 1.0 LY 43,808
BEEAHGE 42,390
TS 1418

data| (&%) 216,000%0.3773/100=815
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B WERLREE 3-3-1-1 2 & NEEAE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 10| #h B ER & A RAxfiTERAERES 0.400| A 50,100 20,040| 50,100 20,040 0.000 0
* M[FEHERES |RABMTEEREERL 0.400| A 36,800 14,720/ 36,800 14,720 0.000 0
* 12|MERES RAxfiTERAERES 1.200 A 27,200 32,640| 27,200 32,640 0.000 0
504|#1 1 & HNE LSBT HEE 62.000| % 67,400 41,788 0 O|#T#I & 0.000 0
&t 109,188 67,400 0.000 0
B fi 1.0 FELy 109,188
BEEAHGE 67,400
TS 41,788
data| (5#)
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(I —3-1-2 1 i NEEZAHE B o= ||[EEDLONES
RSN | % 71 ] 1&  [EM| B\ % | B M | = %8 " BR[| = %
* 10| #h B ER & A RAxfiTERAERES 0.000] A 50,100 0| 50,100 0 0.000 0
* M[FEHERES |RABMTEEREERL 0.040| A 36,800 1472 36,800 1472 0.000 0
* 12|MERES RAxfiTERAERES 0.040| A 27,200 1,088 27,200 1,088 0.000 0
504|#1 1 & HNE LSBT HEE 4.000] % 2,560 102 0 O|#T#I & 0.000 0
806 | Hh 3% m {5t SRL-13(1 /8 H 2% 7500 & 453 3,398 0 O|Hs iR & 0.000 0
&t 6,060 2,560 0.000 0
B fi 1.0 [EHY 6,060
BEEAHGE 2,560
TS 3,500
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* 10| #h B ER & A RAxfiTERAERES 0.100] A 50,100 5010 50,100 5,010 0.000 0
* M[FEHERES |RABMTEEREERL 0.200] A 36,800 7,360| 36,800 7,360 0.000 0
* 12|MERES RAxfiTERAERES 0.200] A 27,200 5440| 27,200 5,440 0.000 0
504|#1 1 & HNE LSBT HEE 1.000( % 17,810 178 0 O|#T#I & 0.000 0
&t 17,988 17,810 0.000 0
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* 12|t EREE RAxfiTERAERES 0.550[ A 27,200 14,960 27,200 14,960 0.000 0
* 22| T RAxfiTERAERES 0.300[ A 31,100 9,330 0 o|Fm#HE 0.000 0
504|#1 1 & MBS HEE 1.000[ % 24,290 243 0 O|#T#I & 0.000 0
802| BELFREETiEF  |infEI<RHE 30.000] H 943 28,290 0 O| IR E 0.000 0
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* 4|$:EMB RAxfiTERAERES 0.320[ A 41,600 13,312 41,600 13,312 0.000 0
* 5|$%EMC RAxfiTERAERES 0.360[ A 32,800 11,808] 32,800 11,808 0.000 0
* 6|8 RAxfiTERAERES 0.360] A 29,000 10,440/ 29,000 10,440 0.000 0
22| T RAxfiTERAERES 0.300[ A 31,100 9,330 0 0| FFHE 0.000 0
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&t 45,246 35,560 0.000 0
B fi 1.0 .Y 45,246
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&t 21,600 0 0.000 0
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579|E/L—ILEK -1 [50mLL T 1.000| PR 236,000 236,000 0 0|Z Dz E 0.000 0
&t 236,000 0 0.000 0
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* 10| #h B ER & A RAxfiTERAERES 0.400| A 50,100 20,040| 50,100 20,040 0.000 0
* M[FEHERES |RABMTEEREERL 0.400| A 36,800 14,720/ 36,800 14,720 0.000 0
* 12|t EREE RAxfiTERAERES 1.200] A 27,200 32,640 27,200 32,640 0.000 0
860| 7L —> 24 | B4Tmm x 3m EFL 11.000] & 5,500 60,500 0 0/95/3/3+1 0.000 0
861| 7ILZSHvTU2 Y | B4TmmA V4 uk 10.000| 1@ 450 4,500 0 0|11A&-1=10 0.000 0
862| = X vy | ARELZEED 1.000] #A 4,000 4,000 0 0 0.000 0
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* 10| #h B ER & A RAxfiTERAERES 0.200] A 50,100 10,020/ 50,100 10,020 0.000 0
* M[FEHERES |RABMTEEREERL 0.500] A 36,800 18,400/ 36,800 18,400 0.000 0
* 12|t EREE RAxfiTERAERES 0.500[ A 27,200 13,600 27,200 13,600 0.000 0
504|#1 1 & HNE LSBT HEE 1.000( % 42,020 420 0 O|#T#I & 0.000 0
&t 42,440 42,020 0.000 0
B fi 1.0 A8y 42,440
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M[FEHERES |RABMTEEREERL 0.250] A 36,800 9,200/ 36,800 9,200 0.000 0
12|t EREE RAxfiTERAERES 0.250[ A 27,200 6,800 27,200 6,800 0.000 0
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884| #a/\wh— £E&1.2m 1.000( & 8,800 8,800 0 O|#T#I & 0.000 0
855|7RYTFL /AT | —faFa1#8 (&E) Z13mm 51500 m 72 3,708 0 0| & 0.000 0
875| AfaFvyk(FEVA) | B32mm A 2.000| 1,930 3,860 0 0| & 0.000 0
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&t 187,936 61,614 0.000 0
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data| (5#)
5




A 22 8 ) B il 3%

REBHRE

OE T
&S 3281 | me 55 EREE| 3281 |EEnnEE=E
Bl # | RS 1-FNo YER D 1.00 YE R BT fL aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
10| #h B ER & A RAxfiTERAERES 0.070] A 50,100 3,507 50,100 3,5607(30/(6.4x60%1.05)]| 0.000 0
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12|t EREE RAxfiTERAERES 0.070[ A 27,200 1,904 27,200 1,904 0.000 0
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3283[aTLyy— HHE105~110 IRHARLLE 0.070| H 18,076 1,265 0 O|BEMIR & 0.000 0
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* 10| #h B ER & A RAxfiTERAERES 1.000f A 50,100 50,100| 50,100 50,100 0.000 0
* M[FEHERES |RABMTEEREERL 1.000f A 36,800 36,800| 36,800 36,800 0.000 0
* 12|t EREE RAxfiTERAERES 7.000 A 27,200 190,400 27,200 190,400 0.000 0
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* 10| #h B ER & A RAxfiTERAERES 0.250] A 50,100 12,525 50,100 12,525 0.000 0
* M[FEHERES |RABMTEEREERL 0.500] A 36,800 18,400/ 36,800 18,400 0.000 0
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